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— N7 91n% KD K7 InnT N7
The one who taught this did not teach the other

OVERVIEW

X297 92 731 21 stated [in the name of 27] that the n1°n was permitted 713757
(only) as a qvw nXM7. At this point (in the question) the X723 assumed that
there were °217 °7n (as 21 interpreted that 7wyn 7°7 10X YW MNIp2). The
YW NXIT was the requirement that there be *217 *3n; for ordinarily one 217 1s
sufficient to be 11722 °nn. The X therefore asked that this ruling
contradicts another ruling of 21 that even if there are 2°2%w> 211, the PN
12w is not considered a PXW° concerning 1°0nY. The statement of nNX7I7
vw, if we assume OwWYN 7°7 1DY SW MNP, contradicts the statement of
X? 1onr?. The Xy answered X7 °1nn X9 X7 °1n7 Xn. The one who
maintains (in the name of 27) that it was a 7vw PR does not agree with the
other statement (of 27). It is not clear which statement (of 27) the X7n) is
referring to. It can be referring to *19% 5w NP or it can be referring to
X2 1°0m°?1. Our MoIN will point out that this is a nPY2nn between >"w and
the X137 12721

— AYYN N0 INAN HY MNIPAT 2NN RY 1IN 297 DIVIPA WIS
>''w9 explained that 1''9 did not teach that the story of the nP11°n in the

7Iwn took place by the caravans of 379X, According to "3 there were no >211 >N

in the case of the npy°'n —
— N2 9N NONX 1IN KD

And there was only one 219 by the story of the npn. This was the Avw nx™7, that
even though there was only one 217, nevertheless they were 2°n» the np1rn to Annad.

Ordinarily, however, *117 "0 are required.
— %299 995 130y N1AYY ND1AD MNTHT 1D NY 1wI9rab

And according to s""?v7 explanation there is no argument, for everyone
(WX 72 X1 27 and X327 02 730 20) agrees that for posterity two %2y are

required to be 711757 °nn —

— 71 95D NYYNA NIN 2179 XD
And they (%11 27 and 7117 27) do not argue 70977; rather they merely argue
how the story with the np1°’n took place. x»n 17 maintains that it happened
"MI9Y YW MNP and there were °211 *n; while 137 271 maintains that it did not take place
"MDY YW MTP2 and there were not 217 >N, but nevertheless they were 7°ni her, based on
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a ayw nRMA.

moon offers a different explanation:'
= N2YY N3 MNTH NYT199D 9)0) XD PON1Y AN 2NN KXY 13N 297 Y INIIN 1932

And the n''9 explained that 317 29 did not teach the ruling of 29
concerning the 772w P°n, that even though that in various respects we
consider him a >X7w°, however not in regards to 3°om. Concerning 0
he is not considered a ?%7w°. 111 21 does not agree with this statement, rather
he maintains that by P& 217 the child is considered a X w° even for Pomn;
and according to 337 27 (even) one 31 is sufficient for posterity.’

In summation: according to >"wA the story of the nP1°n was with one 217 (according to 27
111), however for posterity two 217 are required. 311 21 does not agree that >719¥ 2w MaIpa
nwyn 777 but he does agree that 27 stated R Pon 21, when there is only one 211.
According to the X111 11227, the story of the nP11°n was *217 *7n2 (on account of the NXRTT
7yw); however for posterity one 211 is sufficient. 737 27 agrees that 7°7 >719¥ YW MnIpa
nwyn; however he disagrees that 27 stated X 1°011°2); rather one 211 is sufficient.

mooIn has difficulties with the HX11m 1127 wYo:

= N2 N2 207 INSI 9INRT 299 12 19N 239 SUPN 1IN 29D IWIVaY NYWP DaN
However there is a difficulty with the s'7"7 explanation; according to 29
1217, whose ruling was 3''3°9 following when he ruled that one 21 is
sufficient? 11m 27 maintains (according to the n1"7) that 1"27 rules that X211 17 is
sufficient (there happened to be a requirement of °217 >0 by the np1’n only because of
the 7vw nx117). This is not in agreement, with either 2x°m3 127, or with ywim 27 —

- 9595 199945

as the X3 challenged previously. The ruling that one 211 is sufficient to be n»
71707 is not in agreement with 3" (who maintains that no 211 is needed), nor with 29
Yy (who maintains that [even] a {single} 217 is 721722 9109).

"It is possible that Moo in not satisfied with s""wA explanation. According to *"wA the story of npwn
(according to 737 27) was not >0 2w MN1p32; however the X3 just concluded responding to 7°n7° ' stating
that he seemingly forgot that 7wyn 77 *9% Hw MNpa (and that was also part of the X7 X>wp). [If the Xna is
retracting it should have said 121 *1nn7 181 'R9R'.] It is also generally not desirable to have a np1onn in the
facts of a story. In addition according to >"wA there is no N7 between X1 27 and 101 27; this seems
unlikely (see 7w 0"77m). Finally what is the point of 7171 27 saying that it was a 7yw n&™7, but really °n
217 are required? According to the 1" w170 however, all these difficulties do not exist.
? According to the X131 1727, when 731 27 says 7’7 7w DX, it means that there were 217 *n by the story
of the np1°n. Ordinarily one 211 is sufficient however there was a nyw nX77 and they required *217 *7n.
? See “Thinking it over’.
MR
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mMooIn has an additional difficulty with the 1"9 w17:
= NY PONMY HANT NINANR PITN XNININ DIYVT 92101 NIT N

And furthermore it is inconceivable that any 89128 should argue whether

21 ruled that ‘however concerning o1 the child is not considered a % w>’.
The reason it is inconceivable that 731 27 (or any other X7nX) would argue whether this is
aruling of 27, is —

- SRR K92 1Y MNP 799) 291

For 21 himself stated this 70%7; without another X718 saying it in his name.

mooINn brings a proof to this argument, that none of the later 2°X7MX would disagree that
this is the ruling of 2:
= NN NN KD NN INNT IND 2IWN KD 19199 2297 NN 191D

And therefore we see that the X713 did not respond to the challenge of '
;79%9% (who contrasted the ruling of X117 27 in the name of 27, with the ruling
of 17 that X? 1on1"?); by saying the one who taught this (X1 27) did not

teach this (x> yor°). This would have resolved the contradiction. The reason the X3
did not offer this resolution is, for it is inconceivable that any of these later 2°&71KX would
argue on a statement attributed directly to 2.

SUMMARY

>"w1 maintains that 130 27 disagrees that qwyn 7°7 *98 5w MNp3; the npwn
was permitted only because of a 7vw nX717. However for posterity 217 *2n
are required, agreeing that 21 stated X7 10121 if there is only one 211,

"7 maintains that j311 27 agrees that 7wyn 7°7 *10Y YW MNP, however the
217 N were required only as a 7vw nXMA. For posterity only one 217 is
required. 731 21 disagrees that 27 stated X7 Pom (with [only] one 211). The
difficulties with "7 "5 are that seemingly 7"2°7 is not following either 3"
or >"7; and that it is unlikely that 1211 27 disagrees that 27 stated X? PonyH.

THINKING IT OVER
mooIn asks on the 1" "o, that 7"27 does not follow either 3" or °"A.

> When an XK says something in the name of 27 (as in 27 92X 77 27 7»K), then it is possible that
another X7mR may have had a different tradition as to what 27 actually said, and will therefore disagree
with what was said in s"21 name. However, here 27 himself is saying this 73%7. It is universally accepted
that 27 maintains this view. How then, can 7177 27 say in the name of 707 7yw nXiT 27, while 27 himself
maintains X2 PO Yax?!
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°Seemingly It is possible to answer that "2 follows the opinion of 3"9;’
however here the np1°n is not claiming °n%va1 w35 *72. Therefore even 1"
requires (one) 211.°

% See footnote # 3.
" See (Mx7) "W
¥ See 13 71"7 (X,10) 2,7 MO
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